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The advanced characters of family
Asteraceae are

(1) Inflorescence-head; Cross-
pollination; Ovary  epigynous;
Parachute-like poppus; and Basal
placentation.

(2) Inflorescence-spike; self
pollinated and axile placentation.

(3) Inflorescence ~ Cymose; Ovary
hypogynous; and marginal

placentation.
(4) Bisexual and hypogynous flowers
and Basal placentation.

Select the correct pair :

Family Fruit
(1) Ranunculaceae — Berry
(2) Fabaceae — Cremocarp
(3) Asteraceae — Legume or pod
(4) Poaceae — Caryopsis

The largest herbarium of world is

(1) Royal Botanic Gardens,
~England.

(2) Indian Botanic Garden, Calcutta,
India.

(3) Forest Research
Dehradun, India.

(4) Christ Church Botanic Garden of
New Zealand.

Select the correct statement :

(1) The ovules of cycas are
anatropous and unitegmic.

(2) The pollen tube in cycas 1s
haustorial.

(3) Sperms of gymnosperms are
biflagellate.

(4) In cycas megasporophylls are
organised into cones.

Kew,

Institute,

Girdling leaf traces are characteristic
feature of the stem of

(1) Gnetum
(2) Ephedra
(3) Cycas
(4) Pinus
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6.

Select the correct stage of

development of microspores at the

time of liberation in the following

Gymnosperms :

(1) Cycas — 3 celled; Pinus — 4 celled:;
Ephedra — 5 celled stage.

(2) Cycas — 4 celled; Pinus — 3 celled;
Ephedra — 5 celled stage.

(3) Cycas — 5 celled; Pinus — 4 celled;
Ephedra - 3 celled stage.

(4) Cycas — 4 celled; Pinus — 5 celled;

Ephedra — 6 celled stage.

Match Column — I with Column — II
and select the correct answer by using
the codes given below :

Column —1 Column - II
A. Used as quick i. Monograph
referral system in
taxonomical
studies
B. Collection of ii. Herbarium
preserved plants
and animals.
C. Index to the plant iii. Museum
species found in
particular area.
D. Complete iv. Flora
information of
any one taxon.
Codes :
A B C D
() i i oiv
2) i o i v
3 it 1 v i
4 iv i i i
(=)
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10.

11.

12.

13.

Which of the following taxonomical
aid is based on contrasting pair of
characters ?

(1) Flora (2) Key

(3) Monograph  (4) Catalogue
Write the missing floral organ in the

given floral formula for family
Fabaceae.

% *(3 Kes) Ay G,
(1) CI+’2+2 (2) C1+2+(2)
3) Ciiz+s @ Cori+2

The floral formula ® é‘ Ks C5 A, G,

is related to the family
(1) Fabaceae (2) Ranunculaceae
(3) Liliaceae (4) Apiaceae

Which of the following is termed as
living fossil ?

(1) Pinus (2) Gnetum
(3) Ginkgo (4) Ephedra

One major demerit of classification
proposed by Bentham and Hooker is

(1) Gamopetalae placed after
polypetalae.
(2) Gymnosperms placed between the

Dicots and Monocots.
The
thalamiflorae and calyciflorae.

3 polypetalae includes

(4) Monochlamydeae placed at the

end of dicots.

The secondary xylem consists of

(1) Scalariform and pitted vessels
only.

(2) Scalariform and pitted vessels and
tracheids only.

(3) Scalariform and pitted vessels and

tracheids and wood fibres only.

(4) Scalariform and pitted vessels and

tracheids, wood fibres and some

wood parenchyma.
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19.
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15.

16.

17.

18.

19.

In a tunicated bulb of onion (Allium
cepa) leaves are

(1) Green & concentric

(2) Scaly and non-concentric

(3) Scaly and concentric

(4) Scale leaves are loosely arranged.

Select the correct pair :

(1) Assimilatory - Tinospora
roots cordifolia
(2) Respiratory  — Trichosanthes
roots dioica
(3) Haustoria — Orchids
(4) Prop roots — Pandanus
foetidus
Phyllode and  Phylloclade are

respectively found in

(1) Asparagus and Euphorbia

(2) Australian Acacia and Opuntia
(3) Opuntia and Ruscus

(4) Euphorbia and Australian Acaica
In a dorciventral leaf, location of
palisade tissue and phloem is
respectively towards

(1) adaxial and abaxial surfaces

(2) adaxial and adaxial surfaces

(3) abaxial and adaxial surfaces

(4) abaxial and abaxial surfaces

Read the following statements and
select the correct ones :

(i) Phloem parenchyma is absent in
most monocots.

(i) Gymnosperms lack vessels and
tracheids.

(iii) Gymnosperms lack companion cells.
(1) (i) and (ii) (2) (i) and (iii)
(3) (ii)and (iii))  (4) All of these

Free nuclear division and endomitosis
are characteristic of

(1) Tapetum
(3) Integuments

(2) Synergids
(4) Endothecium
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24.

23.

‘Ardil - a synthetic fibre, is
manufactured from :
(1) Mustard

(3) Lab-lab

(2) Groundnut
(4) Broad bean

Bark is the dead tissue lying outside
the active cork cambium. It includes
(1) epidermis only

(2) epidermis and cork only
(3) epidermis, lenticels and cork only
(4) epidermis, lenticels, cork and

sometimes also hypodermis and a
portion of cortex
Match List — I with List — I1 and find
the correct answer with the help of
codes given below the lists

List — I List — 11

A. Nyctanthes i. Large vascular
bundles

B. Boerhaavia ii. Cortical bundles

C. Aristolochia iii. Medullary
bundles

D. Amaranthus iv. Medullary
bundles in many
rings

Codes :

A B C D
(N i i it iv
(2) i v 1
3) i i v
(4) i i i iv

Number of branch traces in each

branch  of  gymnosperms  and
dicotyledons is

(1) 2 2) 1

(3) 4 4 3

Pollen grains are well preserved as
fossils because of

(1) Sporopollenin in intine

(2) Cellulose and pectin in exine

(3) Sporopollenin in exine

(4) Calcium pectate in intine

In Arachis, the ripening of fruit is
underground. This is known as

(1) Geocarpic (2) Geopantic
(3) Geofrutic (4) Geoperic
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30.

31.

32.

33.

The country which is the world’s
largest producer of Maize is

(1) India

(2) China

(3) US.A.

(4) USS.R.

Pear] millet has

(1) Cymose inflorescence
(2) Head inflorescence
(3) Panicle inflorescence
(4) Spike of spikelets

Of the following pairs, Cotton textile
industry is mostly located in

(1) Gujarat and Maharashtra

(2) Rajasthan and Maharashtra

(3) Maharashtra and Andhra Pradesh
(4) Rajasthan and Punjab

Jute is obtained from
(1) Cortex

(2) Secondary Xylem
(3) Secondary Phloem
(4) Hypodermis

Which of the following is known as

“Green Gold” for its commercial
importance ?
(1) Bamboo (2) Teak

(3) Shisham (4) Green Tea
Gliadin and Glutenin, present in wheat are
(1) Lipids (2) Proteins

(3) Carbohydrates (4) Vitamins

Pop, Pod, Flint, Dent and Waxy are
varieties of

(1) Groundnut
(3) Maize (4) Bajra

The variety N.P. 809 of wheat
combines a considerable resistance to
all the three wheat rusts and
constitutes a landmark in the history of
wheat improvement. It was bred by

(1) Dr. M.S. Swaminathan

(2) Dr. K.C. Mehta

(3) Dr.B.P. Pal

(4) Dr. A.B. Khan

(2) Cotton
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38.

The seeds of Brassica possess a
glycoside which upon hydrolysis with
enzyme myrosin yield dextrose and
essential oil of mustard. The glycoside
is '

(1) dextran
(3) sinigrin

(2) algin

(4) carragenin
Gum arabic is obtained from

(1) Stem of Acacia spp.

(2) Roots of Acacia spp.

(3) Leaves of Acacia spp.

(4) Fruits of Acacia spp.

Which part of Plantago plant is used as

‘Isabgol’ ?
(1) Seed coat (2) Leaves
(3) Roots (4) Stem

Match List — I with List — II and select
correct answer by using codes given
below the lists ;

List —1I List — I1

A. Polish i. Triticum
wheat dicoccum

B. Emmer ii,  Triticum
wheat compactum

C. Common iii.  Triticum
wheat polonicum

D. Club wheat iv. Triticum

aestivum

Codes :

A B C D
(1 i i i iv
(2) 1 i iv il
3) i i v i
4 iv i i iii

Plant part of medicinal importance in

Ashwagandha is
(1) Stem (2) Root
(3) Fruit (4) Flower
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In which zone of atmosphere, ozone
layer absorbs the UV-radiation of Sun ?
(1) Troposphere (2) Mesosphere
(3) Ionosphere (4) Stratosphere

The ratio of the air’s actual water
vapour content to its water vapour
capacity, at a given temperature is
termed as

(1) Absolute humidity

(2) Relative humidity

(3) Atmospheric moisture

(4) Specific humidity

The most common shrub found in
desert of Rajasthan which helps in
stabilising sand dunes is

(1) Euphorbia caducifolia

(2) Calligonum polygonoides

(3) Cenchrus ciliaris

(4) Butea monosperma

Of the following, what is true about

the phosphorous cycle ?

(i) Rocks are the natural reservoirs of
phosphorous.

(ii) Weathering of sedimentary rocks
make phosphate availablé to the soil.

(iii) Herbivores and carnivores obtain
phosphorous from plant directly
or indirectly.

Choose the correct options :

(1) (i) and (i1) (2) (i) and (iii)

(3) (i), (ii) and (iii) (4) (ii) and (iii)

The correct order of succession level

in xerarch is

(1) Lichen — Moss stage — Annual

herb stage — Perennial herb stage

— Shrub stage — Forest.

Annual herb stage — Perennial

herb stage — Lichen — Moss

stage — Shrub stage — Forest.

Shrub stage — Forest — Annual

herb stage — Perennial herb stage

— Lichen — Moss stage.

Forest — Shrub stage — Annual

herb stage — Perennial herb stage

— Lichen — Moss stage.

2)
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Which of the following invasive plant
species is/are posing threat to
biodiversity of Rajasthan ?

(1) Lantana camara
(2) Prosopis juliflora
(3) Eichhornia crassipes
(4) All of these

Match the following columns (I and II)
and select the correct answer using the
codes given below :

Column -1 Column — 11
A. Standing state  i.  Carbon cycle
B. Gaseous cycle ii. Sulphurcycle
C. Sedimentary  iil. Species that
cycle invade a bare
area
D. Pioneer species iv. Amount of
nutrients

Codes :
A B C D
(H i i i iv
(2) iv i i
3) iv 1 i i
(4) i iv 1 ii
Which of the following is not a
characteristic of a community ?
(1) Dominance  (2) Species diversity
(3) Notality (4) Stratification

Natural and  human -~ induced
disturbances, can convert a particular
serial stage of succession to an earlier
stage it is called as

(1) Primary succession

(2) Secondary succession

(3) Progressive succession

(4) Retrogressive succession
Relative proportion of different sized
mineral particles in Loam soil is

(1) Sand 85% + 15% silt or clay or both.
(2) Sand 70% + 30% clay or silt or both.
(3) Sand 50% + 50% clay or silt or both.
(4) 90% Silt + 10% sand.
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Ecology of individuals is known as
(1) Ecosystem ecology

(2) Community ecology

(3) Autecology

(4) Synecology

Which among the following is used for
ex situ conservation of plants ?

(1) National Parks

(2) Conserved forest area

(3) Sanctuaries

(4) Botanical Gardens

Which among the following plant
growth regulator is associated with
Richmond-Lang effect ?

(1) Abscisic acid (2) Cytokinin

(3) Auxin (4) Gibberellin
First stable product of Hatch-Slack cycle is
(1) Phosphoenol pyruvic acid

(2) Oxaloacetic acid

(3) Maleic acid

(4) Pyruvic acid

Diffusion pressure deficit of a
plasmolysed cell is always

(1) Equal to osmotic pressure

(2) Zero

(3) More than osmotic pressure

(4) Less than osmotic pressure

Deficiency of which micronutrient is
responsible for heart rot of beet root ?
(1) Copper (2) Molybdenum
(3) Boron (4) Manganese

The Photosynthetically Active Radiation
(PAR) is the part of electro-magnetic
radiation that can be used as source of
energy for photosynthesis by the green
plants. It is in the spectral range
between :

(1) 700 — 1000 nm (2) 400 — 700 nm
(3) 100-250nm (4) 250 —700 nm

Respiratory Quotient (RQ) is more
than unity(l1) in cases where
respiratory substrate is

(1) Organic acids (2) Inorganic acids
(3) Carbohydrates (4) Fats
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In oxidative phosphorylation ATP is
formed

(1) In outer membrane of
mitochondria.
(2) In inner membrane of mitochondria

and outer membrane also.
(3) On F, particles located on the
cristae in the inner membrane.
In the matrix of mitochondria.

(4)
Precursor of Indole Acetic Acid (JAA) is
(1) Tryptophan  (2) Acetic acid

(3) Leucine (4) Isoleucine

Which of the following process is
absent in C, plants ?

(1) Calvin pathway

(2) Cyclic photo phosphorylation
(3) Splitting of water

(4) Photorespiration

The only enzyme of Kreb’s cycle
which is not present in the matrix, but
is present in the inner membrane of
mitochondria is

(1) Malate dehydrogenase

(2) o-Keto glutaric acid dehydrogenase
(3) Succinic acid dehydrogenase

(4) Citrate dehydrogenase

Which of the following growth
regulator is responsible for
‘Climacteric respiration ?

(1) Auxin (2) Ethylene

(3) Abscisic acid (4) Cytokinin
During night, succulent plants store

carbon dioxide (CO,) in which form ?

(1) Carbohydrate (2) Fat
(3) Organic acid (4) Protein

Which statistical test is used for detection
of linkage and segregation ratio ?

(1) Chi-square (%)

(2) Regression

(3) Variance

(4) Standard deviation
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The maximum number of
chromosomes are found in a plant
which belongs to

(1) Non-vascular cryptogams

(2) Vascular cryptogams

(3) Gymnosperms

(4) Angiosperms

The activities of all the agencies
involved in Plant Introduction (FRI,
IARI, BSI etc.,) are co-ordinated by

(1) NBPGR (2) ICMR
(3) ICAR (4) DST
Common cultivated wheat is an

example of

(1) Autopolyploidy(2) Allopolyploidy
(3) Monoploidy  (4) Aneuploidy
The smooth endoplasmic reticulum is
the major site for synthesis of

(1) Protein

(2) Ribozyme

(3) Lipid

(4) Organic acid

Which among the following is a
commonly used method for
intraspecific transfer of one or few
genes ? .

(1) Pedigree method

(2) Bulk method

(3) Back cross method

(4) Mass pedigree method

During translation process which
enzyme is associated with activation
of amino acid ?

(1) RNA Polymerase

(2) Aminoacyl tRNA synthetase

(3) DNA polymerase

(4) Transcriptase

Exchange of chromosomal segment
between non-homologous chromosomes
is known as

(1) Duplication

(2) Paracentric inversion

(3) Reciprocal translocation

(4) Pericentric inversion
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Correct sequence of the sub-stages of

prophase-1 of meiotic cell division is

(1) Zygotene — Leptotene — Pachytene —

Diptotene — Dikinesis.

2

Leptotene — Pachytene — Zygotene —

Diplotene — Dikinesis.

(3) Pachytene — Leptotene — Zygotene —

Diplotene — Dikinesis.

(4) Leptotene — Zygotene — Pachytene —

Diplotene — Dikinesis.

The number of genotypes produced in
the F, progeny of a dihybrid cross will be
(1) 3 2) 4

3) 9 (4) 16

Phenotypic ratio of F, generation in
recessive epistasis is
(1) 9:3:3:1

3) 9:3:4

@) 12:3:1
@) 9:7

The most abundant lipid in the cell
membrane is
(1) Cutin

(3) Steroid

(2) Glycolipid
(4) Phospholipid

Precursor of messenger RNA (mRNA)is
(1) Ssribosomal RNA (5s rRNA)
(2) Small nuclear RNA (sn RNA)
(3) Heterogeneous nuclear RNA
(hn RNA)
(4) Transfer RNA (tRNA)

Cosmids are the plasmid vectors that
contain cos site of

(1) Ti plasmid

(2) Lamda bacteriophage

(3) M13 phage

(4) E.coli

Which of the following genes are
functional in all cell at all times for
essential activities ?

(1) Smart genes

(2) Jumping genes

(3) House keeping genes

(4) Luxury genes
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Which among the following vector is

obtained from Agrobacterium
tumefaciens ?
(1) Cosmid (2) Phasmid

(3) Tiplasmid (4) pBR322
In which phase of eukaryofic cell cycle
the DNA replication takes place ?
(1) G, phase (2) S phase
(3) G, phase (4) M phase

Certain proteins are involved in the
folding of nascent polypeptides to
form the proper three-dimensional
structure. These proteins are known as

(1) Prions (2) Interferons
(3) Deciferons (4) Chaperones
The sub-unit of RNA polymerase

involved in initiation of transcription is
(1) Sigma factor (2) Rho factor
(3) a-chain (4) P-chain

The types of bond between a pentose
sugar and a base and a bond between
two nucleotides in DNA respectively are
(1) Glycosidic and phosphodiester bonds

(2) Phosphodiester and Glycosidic bonds

(3) Hydrophilic bonds

(4) Hydrogen bonds

How many types of rRNA are present
in eukaryotes ?

(1) One (18s)

(2) Two (18s and 28s)

(3) Three (18s, 28s and 5.8s)

(4) Four (18s, 28s, 5.8s and 5s rRNA)

‘Christmas tree effect’ is found in
(1) Polytene chromosomes

(2) Lampbrush chromosomes
(3) PB-chromosomes

(4) Satellite chromosomes

DNA finger-printing is a technique to

find variations in individuals of a

population at DNA level. It works on

(1) The principle of polyploidy.

(2) The principle of mutations.

(3) The principle of polymorphism in
DNA sequences.

(4) The principle of polymorphism in

RNA.
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Plastome is
(1) DNA of Mitochondria
(2) DNA of Chloroplast

(3) Extra chromosomal
bacteria

DNA of Phagemid

DNA of

Q)

‘Round-up ready’ soyabean is resistant
to

(1) 2,4-D

(2) 2,4,5-T
(3) Glyphosate
(4) Dicamba

Culture media used for tissue culture

are sterilized in an autoclave at
(1) 5 Ib/sq. inch pressure and 109 °C

temperature.
(2) 1 Ib/sq. inch pressure and 102 °C
temperature. )
(3) 15 1lb/sq. inch pressure and

121 °C temperature.
(4) 25 1Ib/sq. inch pressure and
130 °C temperature.

HEPA filters are used in

(1) Autoclave

(2) PCR

(3) Laminar air flow bench
(4) Centrifuge

Hairy root disease is caused by

(1) Agrobacterium tumefaciens
(2) Rhizobium leguminii

(3) Rhizobium radiata

(4) Agrobacterium rhizogenes

The insectidal activity of Bacillus
thuringiensis is due to

(1) Carbohydrate

(2) Cry-protein-protoxin

(3) Cry-proteins (which do not form
crystals)

Cell wall of bacterium

4)
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Pest Resistant Plants of Tobacco were
produced by

(I) RNA interference (RNAI)

(2) DNA interference

(3) Ribosomal RNA interference

(4) ds RNA technology

When cell cultures are maintained in
liquid culture media they are called

(1) Callus cultures

(2) Suspension cultures

(3) Explant

(4) Meristem culture

Which of the following is used as
sterilization agent ?

(1) Sodium hypochlorite

(2) Calcium carbonate

(3) Sodium bromate

(4) Calcium chloride

Transgenic plants can act as living
bioreactors  for the inexpensive
production  of  chemicals and

pharmaceuticals, this is known as
(1) Molecular farming

(2) Transgenesis

(3) Elicitation

(4) Gene silencing

Resistance to herbicide glyphosate has
been achieved through transgenesis by
using which of the following gene ?
(1) Glyphosate reductase (gre)

(2) Glyphosate dehydrogenase (gde)
(3) Glyphosate aminase (gam)

(4) Glyphosate oxidase (gox)

The technology used in producing
transgenic organisms is called

(1) Recombinant DNA technology
(2) Antisense RNA technology

(3) DNA technology

(4) Genetic technology
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Select the correct statement for

Viriods.

(1) Viriods have DNA and RNA.

(2) Viriods are very small naked
RNA molecules without any coat.

(3) Viriods contain genes coding for
proteins.

(4) Viriods are non-infectious.

Match List-I with List-1I and select the

correct answer by using the codes

given below the list.

List-I List-11
A. Aspergillus 1. Facultative
Saprophyte

B. Phytophthora ii. Obligate
endoparasite
C. Erysiphe iii. Saprophyte

D. Albugo iv. Obligate Ecto-
parasite
Codes :

A B C D
(1) i i iv i
2) 1 i i v
(3) iv 1 i i
(4) i iv i i
Coenocytic

fungus found growing

especially on horse dung is

(1) Rhizopus (2) Pilobolus

(3) Mucor (4) Absidia

07



101. =ofi-1 st @rfi-11 & gafera Fifsd aen | 101 Match List-I with List-1I and find the
qﬁ%ﬁﬁ@@ﬁmﬁgﬁmm | correct answer using the codes given
T hIfT i below the lists :

TRt — | arf — 11 | List-I List-11
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B. uhIRbE i FEReN g B. Unicellular ii. Chlorella
g ; motile
C. 3rnfEa iii. TR i C. Unbranched -iii. Coleochaete
r—i@ﬁ - i filamentous
D. wmRaqg iv z,_\;ﬁﬁlaq:, g D. Branched iv. Ulothrix
%ﬁqﬁﬁzﬁ S ; heterotrichous
i Codes :
R ;
i A B C D
A B C D OO N T A TR

102.

103.

104.

07

(1 i i il v

(2) ii i v il

(3) i 11 il v

(4) iv i ii i

TATERSA (Water bloom) 39~ FH
Al o H ARRR Al
feafafgadasRaaiH ad g ?

(1) FARBIEE! (2) TREATBEHE!
3) frawEdt  (4) VSrwrEE
frfafaa 0 9 =9 9 o =1 amsfa

T HET AR 7

(1) UTeHTgHIaT TaTetferd
(2) Sesfan hifem

(3) UFIHIH Hpred

(4) Frga e

TEHRTR Al Stad = fafire
I B :
(1) hRIHI

102.

103.

104.

2 i i v i
3) O V| R T B A%
4) v oodii i i

‘Water bloom’ causing algal species
mostly belong to which of the
following class ?

(1) Chlorophyceae (2) Cyanophyceae
(3) Phaeophyceae (4) Rhodophyceae

Which among the following alga is
known as ‘Irish Moss’ ?

(1) Polysiphonia spiralis

(2) Vaucheria terrestris

(3) Ectocarpus secundus

(4) Chondrus crispus

Triphasic haplobiontic Life Cycle is
characteristic feature of

(1) Chara

(2) Polysiphonia

(3) Batrachospermum

(4) Chlorella




105.

106.

107.

108.

-1 @ g1 w1 faem Hifve e

iRl % = guid QR hT wEEA |

& IR H1 =TI HIfT ;
el -1

A, FR-FMW i

B. WA i,

Tt - 11
LRIESC i

JRiSiai
C. =ma/«rdr i, Afafsam
EARSISRE T FEII
D. glfe  iv. Tiei® wied
L T4

A B C D
(1) i i v i
@ o1 &5 v
3 iv i i i
(4) i iii ii v
TeehIEIToTeh U9 QIR i § Yo Hash
Ha R
(1) sfafsammetads
(2) TEHEERES
(3) TR
(4) STRRTHTERES

I &

(1) et

(2) Terepedt asfiat
(3) Torhedt gaasfie
(4) Flahedt weiat

won  ghianfed ofta, feer aegf
ST STIRHT T TR e o, R

|
:
L]
i
i
|
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105.

106.

107.

108.

Match List-1 with List-II and select the
correct answer by using the codes
given below the list.

List-1 List-I1
A. Agar-agar 1. Gloiopeltis
furcata
B. Funori ii.  Cephaleuros
virescens
C. Red rust of iii. Gelidium
tea/coffee species
D. Heterocyst iv. Nostoc
commune
Codes :
A B C D
(1) i i iv il
(2) i i i v

(3) v i i
4 i i i v

The fungus used for preparation of
alcoholic beverages belongs to

(1) Basidiomycetes

(2) Ascomycetes

(3) Deuteromycetes

(4) Zygomycetes

Viruses are

(1) Saprophytes

(2) Facultative parasites
(3) Facultative saprophytes
(4) Obligate parasite

The first eukaryotic organism, whose
complete genome sequence was
determined, is

(1) Neurospora crassa

(2) Saccharomyces cerevisiae
(3) Albugo candida

(4) Puccinia graminis

07



109.

110.

111.

112.

07

fr=afefga @ 9 w9 @ Qo =1 Sfeq
ok Yarel # fom i 3afa stk fawm
T YhTY STeTd1 & ?

(1) st (2) Bl
(3) Tlcared (4) FAEEEE

TTSAISIFTET ST ST 1 fora ST Tehar 2 -
(1) R AT F A9UFN 37T
(PIRITSi) & TR §

(2) SRR IcTeH §
(3) i SR &R gey 1 gura |
4) Aaeft

arefi-1 w1 groft-11 & gafera i
au = f 1 %2 H grEa @ v
ITR T =TT HIfT :
qroft - 1 greft - 11
(T h SR) (e 7 7))
A WEREE i HiEdRed
B. e i mifteE
C. et il 2@
AR
D. fsrade iv. wgsafeas
FAgH

[t ]
=

109.

110.

111.

112.

Which of the following alga’s life
cycle throws light on the origin and
evolution of sex in algae ?

(1) Oedogonium

(2) Fritschiella

(3) Volvox

(4) Chlamydomonas

Cyanobacteria can be used in
(1) Conversion of solar
through biophotolysis.
Biogas production.
Reclamation of saline and alkaline
soil.

All of these

energy

(2)
3)

4)

Match List — I with List — II and select
the correct answer using the codes
given below the lists :

List—1I List — II
(Stele type) (Name of Plant)
A. Plectostele I Psilotum
B. Actinostele ii.  Marsilea
C. Amphiphloic  iii. Pteris
siphonostele
D. Dictyostele iv. Lycopodium
clavatum

Codes :

A B C D
() i i i v
() i i iv i
(3) il i i v
4 iv i i i

Virus free plants can be produced
using which of the following plant
tissue culture technique ?

(1) Shoot tip culture

(2) Anther culture

(3) Embryo culture

(4) Zygote culture



113,

114.

115.

116.

117.

St 9 Hred % FER Feffed 3 |
g FRTEEE % SvElE w e

T TR HT AT =TS ?

(1) WRER (2) FEE

(3) Tl (4) HEREE
SHfea SRemsea % fraw w1 femelismrs
g7

(1) 8 (2) 4

3) 2 “ 9

forferftaa deoea sqeaghel & 5
7 3 SgehuTEhTT IHY] T ST § 7

(1) wrgehieam 3R faeifmen
(2). aTEHaeTn 3R wafEed
(3) TEifien iR JEEEicH
(4) TaafSeen 3 Amgaed

X-Y whR & T qumm, W (1917,
1919) % g, wom o far fore g :
(1) el wye=a #

(2) THUBTYE SHTS H

3) fdremm <t ferett A

(4) Tefeaeda dea 7

Ao fafs A oaug oo

(aTTfeheifEm) 3= il &
(1) SO
(2) HEIEIeH i
(3) T o TETEee
(4) TfrehT 3 SSTL3T I
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114.

115.

116.

117.

. According to Bower and Campbell

sporophyte of which of the following
bryophytes is considered to be the
most advanced type ?

(1) Plagiochasma (2) Funaria
(3) Anthoceros (4) Marchantia

How many living genera of
pteridophytes are heterosporous ?

(1 8 (2) 4

3) 2 4 9
Multiflagellated ~ antherozoids  are

present in which of the following pair
of the vascular cryptogam ?

(1) Lycopodium and Selaginella

(2) Lycopodium and Equisetum

(3) Equisetum and Isoetes

(4) Selaginella and Psilotum

X-Y types of sex chromosomes were
first reported by Allen (1917, 1919) in

(M
()
3)
4

Riccia fluitans

Sphaerocarpos donnelli

Riella sps

Ricciocarpus natans

In Notothylas levieri the archesporium

gives rise to

(1) spores

(2) pseudoelaters

(3) spores and pseudoelaters

(4) columella and spores

07



118.

119.

120.

07

-1 8 -1 e iR a

et % i gty o e B T A

TE I HT T I :
= -1 -1

A Tefmenr i B

B. usfem . e

C. wmEfr ii. TEg B
CACA R AT

D. weiden iv.  gasfiad
qred

TR

A B C D

M % B &

(2) v ii 111 1

@) v il G

4) i Qi i v
frafafegs & @ 9 @1 & oyl
fEwEe ? 7

(1) @ (2) grE=fE

(3) TyafsEen (4) A3

-1 w1 g=h-11 o gafaa Hikd aun
= e 1 el Y wEwar @ W I H
WW:

T -1 gt - 11

A. Sfesm i. oferem

B. whefeq ii. IR

C. wgmIwsd il HicgH

D. wgums iv. ohellgim
qEmTe

E T

A B C D
Ay i i i v
@) i i i v
3) i i iv i
@ v i i i

| 118. Match List — I with List — II and select

23

119.

120.

correct answer by using codes given
below the lists :

List — 1 List — 11
A. Selaginella 1. horse tail
B. Azolla 1. tree fern
C. Cythea iii.  smallest
pteridophyte
D. Equisetum iv.  resurrection
plant
Codes :
A B C D
() it i i v
(2) iv i il i

@) iv i i i
@ i i i v

Which among the following is a
microphyllous pteridophyte ?

(1) Pteris (2) Dryopteris
(3) Selaginella (4) Lastrea

Match List — I with List — II and find
the correct answer using the codes
given below the lists :

List—1 List — I1
A. Spadix i.  Salix
B. Catkin ii.  Colocasia
C. Compound iii. Coriandrum
umbel

D. Polychasial iv.
cyme
Codes :

A B C D

(H i i i v

2 i i i v

3 1 iioiv i

4) iv i i i

Calotropis
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